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Listening Comprehension

TEST ONE

Section A

Directions : In this section, you will hear 10 short conversations. At the end of
“each conversation, a question will be asked about what was said. The
conversation and the question will be spoken only once. After each
question there will be a pause. During the pause, you must read the
four choices marked A), B), C) and D), and decide which is the best
answer. Then mark the corresponding letter on the Answer Sheet

with a single line through the centre.

Example:You will hear:

You will read:

A) At the office.

B) In the waiting room.

C) At the airport.

D) In a restaurant.

Sample Answer [A ] [B] [C] [D]

From the conversation we know that the two were talking about some
work they have to finish in the evening. This is most likely to have
taken place at the office. Therefore. A) “At the office” is the best an-
swer. You should choose answer [A] on the Answer Sheet and mark it

with a single line through the centre.

1. A) Three or two dollars. B) Four or five dollars.
C) Three or four dollars. ' D) Five or six dollars.
2. A) At the restaurant. B) At the theatre.
C) At the station. D) At the drugstore.
3. A) A trip she has already taken. B) A trip she takes frequently.
C) A restaurant she owns. D) A famous statue in Washington.
4. A) His duty. B) His nationality.
C) His income. D) His occupation.
5. A) Catch a cold. B) Sit next to the bus stop.
C) Worry to go home. ' D) Hurry to get the bus.
6. A) Four years. ' B) Four and half years.



C) Five years.
7. A) She has left school.

C) She has changed her mind.
8. A) 75 cents.

C) 90 cents.
9. A) The teacher and the student.
- C) The lawyer and the witness.

10. A) 4 : 00. B) 4 : 50.

Section B

C) 4:10.

D) Five and half years.

B) She has talked with the professor.
D) She has told the lies.

B) 85 cents.

D) 95 cents.

B) The assistant and the customer.
D) The doctor and the patient.

D) 4 : 05.

Directions: In this section, you will hear 3 short passages. At the end of each

passage, you will hear some questions. Both the passage and the

questions will be spoken only once. After you hear a question, you

must choose the best answer from the four choices marked A), B),

C) and D). Then mark the corresponding letter on the Answer Sheet

with a single line through the centre.

Passage One

Questions 11 to 13 are based on the passage you have just heard.

11. A) In a big village.

C) In a small town.
12. A) Two sons.

C) Two bathrooms.
13. A) A car seller.

C) A housewife.

Passage Two

B) In a big city.

D) In the countryside.
B) Two cars.

D) Two bedrooms.

B) A chemical teacher.
D) A history teacher.

Questions 14 to 16 are based on the passage you have just heard.

14. A) 8 o’clock on a Monday evening.
C) 8 o’clock on a Monday morning.

15. A) To see the film.
C) To watch TV.
16. A) Unhappy.
,C) Satisfactory.

B) 18 o’clock on a Monday evening.
D) 8 o’clock on a Sunday morning.
B) To take part in parade.

D) To work.

B) Excited.

D) Comfortable.



Passage Three

Questions 17 to 20 are based on the passage you have just heard.

17. A) Summer and autumn. B) Winter and spring.
, C) Autumn and spring. D) Summer and winter.
L 18. A) It is pleasantly warm. B) It is cold.
C) It is too hot. D) It is unpleasantly warm.
19. A)The northern part. B) The western part.
C) The eastern part. D) The southern part.
20. A) By trams and trains. B) By trucks and trains.
C) By ships and buses. D) By cars and boats.
L ‘ Section C

Directions ; In this section, you will hear a passage three times. The passage is

printed on your Answer Sheet with 20 words missing. First, you will

hear the whole passage from the beginning to the end just to get a
general idea of it. Then, in the second reading, you must write down
the missing words you have just heard in the corresponding space on
the Answer Sheet. You can check what you have written when the
passage is read to you once again without the pauses.

An ant was drinking at a small (21) and fell in. She made des-
perate (22) to reach the side, but made no (23)_ at
all. The poor ant, (24) exhausted, was still (25)
doing her best when a dove saw her. (26) with pity the bird (27)

her a blade of grass, which (28) her like a raft, and

thus she (29) the bank again. While she was (30) | and
drying herself in the (31) she heard a man (32) .
He was walking (33) barefooted and carrying a gun in his (34)
. As soon as he saw the (35) he wished to kill her, and he

would (36) have done so, but the ant bit him in the foot just as he -
37 his gun to fire. He stopped to see what had bit him, and the

dove (38) . flew away. It was an (39) much weaker and
smaller than herself that had (40) her life. ‘




TEST TWO
Section A
1. A) Right and wrong. B) The weather.
C) The news. D) The holiday.
2. A) Five blocks. B) Four blocks.
C) Three blocks. D) Two blocks.
3. A) At a library. B) In a drugstore.
C) At the airport. D) In a bookstore.
4. A) She will go home. B) She will go to the movies.
C) Only if she is introduced. D) After she goes to the movies.
5. A) They both liked it. ' B) Neither liked it.

C) The sister didn’t like it, but the brother did.
D) The sister didn’ like it because it wasn’t in English.

6. A) She can’t read. B) Nobody can tell.
C) She has no watch. D) She is too sorry.

7. A) Read John’s novel. B) Return the novel to John.
C) Go home. A D) Leave class early.

8. A) $9. B) $20. C) §18. D) § 10.

9. A) It’s difficult. B) It’s easy.
C)It’s too short. D) Within 40 minutes.

10. A) She forgot the time for the class.
B) She got up late.
C) There was something wrong with her clock.
D) Her friend had borrowed her car.

Section B
Passage One
Questions 11 to 13 are based on the passage you have just heard.
11. A) Both of them want to visit their sister.

B) Mr. Bell wants to go to Florida.

C) Mrs. Bell wants to visit her sister, but Mr. Bell doesn’t want to.

D) Mrs. Bell wants to go to Maine, but Mr. Bell wants to go to Florida.
12. A) Last week. B) Last night.

C) Last month. D) Tonight.
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13. A) To change his mind. : B) To change her plan.
C) To go to Maine with him. D) To swim in Maine.

Passage Two

Quesfions 14 to 16 are based on the passage you have just heard.

14. A) From the east coast to the west coast.
B) It is over 3,500 kilometers from the west coast to the capital.
C) It is more than 3,000 kilometers from Hawaii to the mainland.
D) From the Atlantic Ocean to the Pacific Ocean.

15. A) About 5 hours. B) About 15 hours.
C) Just 5 hours. D) 48 hours.

16. A) In the Atlantic Ocean. B) On the east coast.
C) Near the Atlantic Ocean. D) In the Pacific Ocean.

Passage Three

Questions 17 to 20 are based on the passage you have just heard.

17. A) 48. B) 13. C) 50. D) 15.
18. A) Negroes. B) Indians.

C) African slaves. D) Immigrants.
19. A) In 1860. B) In 1790.

C) In 1763. D) In 1863.

20. A) From England and the Netherlands.
B) From England and French.
C) From many other countries.

D) From all over the world.

Section C
The old conditions of travel and the new (21) , of most travel
of today are (22) opposite. For in old (23) y as
on horseback or on (24) » you saw the (25) while you trav-
elled. Many of your stopping places were for (26) » or because night had
fallen, and you could see (27) at night. Under the old (28)
‘ , therefore, an (29) _ traveller might keep in (30)
from day to day, slowly indeed, but (31) something all the
time, and (32) what the country was through which he passed by

5



(33) with the people. But in the new system, he is shut up with his (34)
and a good many other parties in a (35) box with glass win-

dows, and whirled on through (36) if it be dusty, or rain if it be (37)
» under (38) which make it impossible to (39)

with the people of the country, and almost (40)__ to see

what that country is.

TEST THREE
Section A v
1.. A) Cold. B) Hot. C) Warm. D) Mild. -
2. A) Watching TV. B) Doing her homework.
C) Doing housework. ‘ D) Looking for water. -
3. A) The movie is excellent. B) The movie is not good.
C) He wants to see the movie again. D) He doesn’t want to stay home.

4. A) The hotel is boring.
B) She does like the hotel because of its bad service.
C) She doesn’t like the hotel for it has modern facilities.
D) The hotel is inexpensive.

5. A) 10 00. B) 10 : 30. C) 10 ¢ 45. D) 11 : 15.

6. A) 15—0304. B) 1—53004. C) 1503—40. D) 1530—40.

7. A) Pine. B) Bine. C) Baine. D) Paine.

8. A) In a restaurant. B) In a bank.
C) In a bookstore. D) In a post office.

9. A) The operator and the caller. B) The customer and the assistant.
C) The husband and the wife. D) The policeman and the witness.

10. A) Three brothers but no sisters. B) Three sisters but no brothers.
C) Two sisters and one brother. " D) Three sisters and one brother.

Section B

Passage One
Questions 11 to 13 are based on the passage you have just heard.

11. A) Chicago. B) Los Angeles.
C) New York. : D) Washington.
12. A) Washington. ' B) New York.
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C) Chicago. : D) Philadelphia.
13. A) 700,000. B) 8,000,000.
) 3,000,000. D) 2,000,000.

Passage Two

Questions 14 to 16 are based on the passage you have just heard.

14. A) To find jobs. B) To talk with the people there.
C) To get on buses. D) To drive cars.

15. A) Pleasant. B) Interesting.
C) Enjoyable. D) Unpleasant.

16. A) Ask for help. . B) Use the telephone.

C) Try to learn and use the language at any time.
D) Buy the things needed.

Passage Three
Questions 17 to 20 are based on the passage you have just heard.
17. A) From American Indian language.

B) From Latin language.

C) From Spanish.

D) From England.

18. A) At the Long River-Mouth. B) Brave Men.
C) Dangerous place. D) Intellegent people.
19. A) 15. B) 30. C) 20. D) 25.
20. A) Illinois and Hawaii. B) Hawaii and Alaska.
C) Colorado and Alaska. D) Georgia and Hawaii,
Section C
The last part of this (21) will be an age of exploration as man
has never known. There are eight (22) , at least (23)
moons, and (24) of asteroids UMTE). Their (25)__ area is
about (26)  times that of the earth. (27) will not be able to
(28) on some of them. But that still leaves to be explored an area ten
times great as the (29) of the earth.
(30) space may seem terrifying to some people. No (31)
explorers of the past were (32) by the great empty oceans
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that (33) before them. They (34) their fears, crossed the (35)
» and built the New World. -

In the past when explorers set (36) into the unknown, they had to
say good-bye to everything they knew at home. (37) explorers will not
face such great (38) . Even when they travel far (39)__ the
sun, they will be able to (40) . messages back.

TEST FOUR
Section A _
1. A) Looking for a cap. : B) Looking for his hat.
C) Watching his wife dressing. D) Going to'a bus station."
2. A) Everyday. B) Weekdays. C) Weekends. - D) Seldom.
3. A) The man. B) The woman.
C) The woman’s mother. D) The man’s mother.

4. A) She had a wonderful time.

B) She had a bad time.

C) She wanted to live in the West Coast.

D) She did like the West Coast for it’s crowded.
5. A) 8: 00. B) 8: 10. C) 7:15. D) 7+ 45,
6. A) Go for a long walk with her friend.

B) Rest and take care of herself.

C) Stay at home and do her exercises.

D) Catch up with her reading.

7. A) Touch all his friends. . - B) Write a lot.
C) Have a lot of time. D) Have a lot of friends.
8. A) She needs a hotel. B) She is in a hotel.
C) Six blocks. D) About two blocks.
9. A) He will not leave the school. B) He is going on vacation.
C) He will stay home. D) He doesn’t want to go home.
10. A) In the living room. B) In the hall.
C) In the kitchen. ' D) In the reading room.
Section B

Passage One
8




Questions 11 to 13 are based on the passage you have just heard.

11. A) To control her writing. - 'B) To get what she wanted.
C) To control her actions and feelings. D) To keep on learning.
12. A) By crying. B) By shouting.

C) By showing her action. D) By using force. "
13. A) She had to love and help her. '

B) She had to succeed in showing Helen.

C) She finally accepted Helen as her friend.

D) She had to learn to speak.

Passage Two
Questions 14 to 16 are based on the passage you have just heard.
14. A) 5 million people. : B) 7 million people.
C) 17 million people. S D) 25 million people.
15. A) To understand what they want.
B) To understand the important things.
C) To understand what the young people thmk and feel.
D) To make out their interests.
16. A) To see what was done before.
B) To see what was wrong in the past.
C) To see what is right and good in the older ways.
D) To see what happened many years ago.

Passage Three
Questions 17 to 20 are based on the passage you have just heard.
17. A) Four years old. B) Forty years old.
C) Fifteen years old. D) Fourteen years old.
18. A) To protect it from wind and rain or snow. '
B) To protect it from being stolen.
C) He is afraid of being taken away by others.
D) He thinks that his customers will see them clearly.
19.A) At 5: 00. - , B) At 5: 50.
C)At5:15. - : D) At 5 35:
20. A) He wants to go to college.
B) He wants to win a trip to Europe.



C) He is eager to buy a new bicycle.
D) He is eager to get -more clothes.

Section C :

Mrs. Harris, an elderly (21) in a nursing home, sat-all day in a
chair. She did nothing (22) . She required (23) physical care,
~ even feeding. No one seemed to realize that she was (24) *_deaf and
blind. One day, a young doctor (25) cataracts (H PYf&) in both h.er
eyes. He discovered that if he spoke in her (26) - » she seemed to (27)

One eye was (28) on, and when it was first (29)
» the old woman cried with (30) . Her (31D ~ was
quick, and she soon became quite (32) . She started (33)
herself and took to (34) and talking with others. The change in her
(35) was (36) . Not only did she require (37) - nursing

(38) but she was also able to help other patients. She was again able to
see and with this, seemed to (39) -_some (40Q) recovery.

TEST FIVE

Section A A
1. A) The plane is cheaper than the train.
B) The train is cheaper than the plane.
C) There is only one train every day.
D) The plane is faster than the train.
2. A) He threw half of it away and kept the rest.
B) He threw half of it away.
C) He kept all the paper.
D) He gave half of it to his friend.

3. A) §20. B) § 30. C) §24. D) $18-

4. A) In a taxi. : B) In a bank.
C) In a restaurant. v D) In a post office.

5. A) To get on a plane. B) To get their plane tickets.
C) To make a call. D) To see their friends.

6. A) She had some homework to do.  B) She didn’t like to dance.
C) She had a terrible headache. D) She had to see her teacher.
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7. A) Food. .B) Clothes. - C) Weather. - - D) Health.
8. A) By taxi. B) On foot. C) By train. D) By bus.
9. A) She has gone back to her hometown. ’ '

B) She has been very busy recently.

C) She is ill.

D) She has gone abroad.

10. A) It has been sunny. B) Tt has ‘been too hot.
C) It has been too cold. D) It has been raining.
Section B

~ Passage One

Questions 11 to 13 are based on the passage you have just heard.
11. A) The driver couldn’t hear the bell if he rang once.
B) He wanted to make sure that the driver could hear the bell.
C) He thought it funny to do so.
D) He wanted to get off.
12. A) Ask the conductor to collect tickets.  B) Ask the driver to stop the bus.
d) Ask the driver to go on. D) Ask the driver to go slowly.
13. A) Henry was a foreigner who didn’t know the customs of the city.
B) Heriry was poor in English.
C) Henry loved to ring bells.
D) Henry wanted the bus to go on.

Passage Two

Questions 14 to 16 are based on the passage you have just heard.

14. A) Not rich but kind. B) Rich and kind.
C) Neither rich nor kind. D) Rich but mean.
15. A) The artist. B) The beggar.
C) Neither of them. D) Each paid his own bill.

16. A) He had something else to do.
B) He had no money to pay for the taxi.
C) He didn’t want the artist to pay for the taxi.
D) He didn’t want to pay for the taxi too.

Passage Three
11



Questions 17 to 20 are based on the passage you have just heard.
17. A) In the school. B) In an office.

C) In a car factory. D) In a park,
18. A) He could do all kinds of work there.

B) Gardening was his hobby.

C) The park was beautiful.

D) Many people came to visit the park. ‘
'19. A) For many years. B) For only one year.

C) For a couple of years. D) For four years.
20. A) They like the park very much.

B) They could eat something in the park.

C) They wanted to enjoy themselves in the park.

D) They had become Tom’s good friends.

Section C .

Man’s first (21) invention, and one of the most important (22)
in history, was the (23). . Al (24> : and
every machine in the world (25) on it.

The wheel is the (26) yet.perhaps the (27) remarkable
of all inventions, because there are no wheels in (28) .___no living thing
was ever (29) with wheels. How, (30) ».did man come to in-
vent the wheel? - _

(31 some early (32) found that they could roll the
dead body of a heavy animal through the (33) on logs more easily than

they could (34) it. However, the logs themselves (35) a
lot.

It must have (36) 7 _ a great prehistoric (37) a long time
to (38) two thin slices of log (39) at their centers by a

400 stick.

TEST SIX
Section A : .
1. A) He refused to drive her. B) He is glad to drive her.
C) He forgot his driver’s license. D) He has a new car.
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